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Friday, April 11, 2008

--- On commencing at 9:06 a.m.


MR. KAISER:  Please be seated.


Mr. Shepherd.


MR. SHEPHERD:  Mr. Chairman, I think Mr. Penny has a couple of things first.

Preliminary matters:


MR. PENNY:  Just a couple of housekeeping matters, Mr. Chairman.  There was some information requested by Mr. Shepherd last day which never got an undertaking number.  So part of the package that was filed - it's the first one - is something that did get an undertaking number, is J6.1, and then behind that there are two more documents which are responsive to some questions that Mr. Shepherd asked, which didn't get undertaking numbers.  


So we have left a spot for them to have exhibit numbers so that they are preserved in time in the record before you.  So maybe Mr. Millar could tell us what numbers they should have.


MR. MILLAR:  Yes.  We will mark those as the package of three.  The first one, as Mr. Penny notes, already has an undertaking number.  The next one we will call K7.1, and that's an undertaking response to Schools to produce the tables excluding everything prior to 2008 and GST.

EXHIBIT NO. K7.1:  UNDERTAKING RESPONSE TO SCHOOLS TO PRODUCE THE TABLES EXCLUDING EVERYTHING PRIOR TO 2008 AND GST.


MR. MILLAR:  The second one will be K7.2, also a response to Schools, which is to provide the results of the sales tax study with the monetary policy response.  I will bring up copies for the Panel.


MR. PENNY:  Thank you.

EXHIBIT NO. K7.2:  RESPONSE TO SCHOOLS TO PROVIDE THE RESULTS OF THE SALES TAX STUDY WITH THE MONETARY POLICY RESPONSE.


MR. PENNY:  Thank you, Mr. Millar.  The only other housekeeping matter is on rereading Exhibit K7.1, which is the page 1 of 4 with the tables, Dr. Wilson noticed that there was a mistranscription of -- and just wanted to correct that.  So once you have it, perhaps he can...


MR. KAISER:  Thank you.


MR. PENNY:  What Mr. Wilson wants to address is on the first exhibit that was marked this morning, Exhibit K7.1.  It is about the middle of the package, page 1 of 4.  There is an explanation on the first page, and then three tables.


The paragraph that concerns Dr. Wilson is the third last paragraph that starts, "Union's price caps".  Mr. Wilson, would you identify the typo and give what it is supposed to say, please?


DR. WILSON:  Right.  I will read the whole paragraph:

"Union's price cap for 2009 will be reduced by the effect of the GST on the GDP IPI FDD for 2008.  Households will receive a benefit over and above the amount of their 2008 GST reduction, but most ..."


Instead of "and Union's business customers will have a windfall benefit that should be opposite meaning:

"... but most of Union's business customers would not have a windfall benefit."


MR. PENNY:  All right.  Thank you.  That's all, Mr. Chairman.  Thanks very much.


MR. KAISER:  Thank you.  Mr. Shepherd.

UNION GAS - PANEL 1, RESUMED


Dr. Thomas Wilson, Previously Sworn


Mike Packer, Previously Sworn
Further cross-examination by Mr. Shepherd:


MR. SHEPHERD:  Thank you, Mr. Chairman.  I would like to start with Exhibit 3.3 which we got earlier in the week.


I guess these questions are for you, Dr. Wilson.  This is your document; right, Dr. Wilson?


DR. WILSON:  3.2?


MR. SHEPHERD:  3.3, this is your document?


DR. WILSON:  J3.2?


MR. SHEPHERD:  J3.3.


DR. WILSON:  This is a document that is...

MR. SHEPHERD:  3.3.  It starts the next page after J3.2.


DR. WILSON:  This was done jointly with Mr. Packer and his staff.


MR. SHEPHERD:  Okay.


DR. WILSON:  I am -- as I explained I think earlier this week, that our responsibility, Professor Mintz and myself and my research associate, was to derive the impacts of the various tax changes on the GDP IFPD -- GDP -- anyway, the final demand deflator, and then Mr. Packer and his colleagues inputted those results into their analysis of Union's financial statements.


MR. SHEPHERD:  Wonderful.  Well, then I guess these are sort of toss-up questions.  You figure out who the right person is to answer them.


The first one is that right here in the first sentence of this, it says, "We have prepared estimates."  Now, "estimates" is a word that for the layperson is an approximation based on judgment.  For an economist, it is actually an empirical calculation of a particular factor, right; a variable?

In this case, which is this?  Is this an empirical calculation or is it an approximation based on judgment?


DR. WILSON:  Well, in all things, it is a mixture, but I would say primarily empirical, as the -- they're not precise, is one way of saying it.  Estimates, they're based on a model that is empirically estimated, and a particular simulation with that model that we were using for a study that C.D. Howe Institute will be publishing, hopefully soon.  


And that's what we use to derive the distributed lag weights that we then applied to the marginal effective tax rate calculation, the meters that had been derived by Professor Mintz and his associate, Duanjie Chen, and then we added in the GST effects directly for those years that were affected by them.


MR. SHEPHERD:  I want to explore that just a bit.


You didn't run any simulations for this question; right?  You took previously run simulations and used them by analogy?


DR. WILSON:  We took -- as I explained earlier this week, we took this particular simulation that looked at the impact of Ontario, of an Ontario retail sales tax reform, and as a part of that reform, there was a change in the tax burden on capital.  So that would affect the drivers of investment in the model, and we looked at the distribution from the date of the reform, going forward, of the impact of that on the capital stock in Ontario. 


And that was -- it was the distribution of that that we used as distributional weights to apply to the estimated marginal effective tax rates produced by Mintz and Chan.


MR. SHEPHERD:  So do I understand correctly, then, that this other paper was about a shift from an RST type of commodity tax to a GST type of commodity tax, and part of the impact of that was an effect on capital investment; right?


DR. WILSON:  Yes, that's correct.  That type of reform involves a number of changes.  There are a lot of relative tax burden changes on consumer goods and services, because many things are exempt under the RST that are taxed under the GST.


Another sort of a problem that has been noted by tax experts and economists for years about these retail sales taxes is there are some taxes on business inputs and on capital goods, and those -- the joint effect of those taxes is to put a tax burden on investment.


So when you go to the GST, you largely eliminate that tax burden, and it was the elimination of that tax burden on capital which really is the reason why you generate investment -- a positive investment response going forward as a result of the tax reform.


MR. SHEPHERD:  I am going to try to take this in baby steps.  The first step is there was an RST to GST study.  One of the things that happens is there's a capital investment impact.  It's not an entire capital investment impact as is the case with a corporate income tax change; right?  It's part of the impact, because only part of the RST falls on business; true?


DR. WILSON:  I don't quite see what you are getting at here.  In a macro econometric model, if you change X parameter, there are all sorts of repercussions, so we can't really think that the corporate tax changes only affect investment, because the economy -- they do add to -- they enhance labour productivity in the long run.  The GDP will be higher and there will be actually more consumption, as well as more investment.  But -- so there are other changes.


In the case of the retail sales tax reform, I would say the main result we were deriving from our model and the simulations in this study was how it affected investment and capital formation.


Our model was not in a position to address the issue that a lot of tax economists think is important, which is all of the restructuring of relative prices that will occur when you go from an RST to a value-added tax.

The other authors in that -- of the study addressed some of those issues.

MR. SHEPHERD:  Okay.  We talked the other day about how a commodity tax change moves through to the GDP deflator in quite a different way than a tax on business.  That's true, isn't it?

DR. WILSON:  Yes.

MR. SHEPHERD:  Okay.  So you took a study that dealt with a commodity tax change, but a particular type of commodity tax change which also had an impact on capital investment.  So what I am trying to determine, methodologically, how did you divide the two impacts?  Because there are both impacts when you are dealing with a commodity tax, right?

DR. WILSON:  I think, again, as I explained earlier this week, the pass-through of these sales tax -- I prefer sales tax to commodity tax, because it is not just commodities but services are taxed, and so on.

The sales tax changes on the various goods and services that occur would be passed through quite quickly.  So for example, a business buying some computer software that might currently have to pay retail sales tax, that business, the day after the retail sales tax was replaced by the value-added tax, would walk into the shop and pay the lower price, because like the value -- like the GST, the retail tax is added on at the end.

So the impact on all of the prices would be quite quick, just like the GST impact.

The impact on investment, though, as a result of these price changes will be drawn out into the future and the lag patterns would be similar to if you had changed the cost of capital through a corporate tax change.

MR. SHEPHERD:  All right.

The reason you think that it would have a similar impact is why?  Why do you think that the pattern of distributed lags would be the same in that situation as in a corporate income tax?

DR. WILSON:  Well, because the way the tax change on investment goods in construction enters the model is similar to the way a corporate tax change would affect it.

In the case, for example, of machinery and equipment, the model uses a construct called the user cost of capital, and the user cost goes down as a result of the elimination of the sales tax burden on capital goods in Ontario.

If we change certain corporate parameters, like lowering the corporate statutory rate, that would also have an impact on user costs.  But what the equation driving machinery and equipment investment in the model uses is user cost.  It doesn't sort of say oh, there is a difference here because it was a sales tax change.  Or a change -- it could be a change in the price of the capital goods, for example, if the Canadian dollar were to depreciate, because a lot of our machinery and equipment is imported.  Those go into this composite user cost variable.  That, then, is one of the key drivers along with things like output that determines machinery and equipment investment.

MR. SHEPHERD:  So the logical step you took is you said anything that affects the user cost of capital, once you get to the user cost of capital, the distributed lag effects would be the same after that.  Right?

DR. WILSON:  That's correct.  Unless we allow for, make allowance for anticipatory affects.  But this particular tax change would be something which, I think, at this point it would be a pleasant surprise to most businesses if the day after the Ontario budget they had included this type of reform.

So I don't think it would be reasonable to expect that there be any anticipatory affects coming from this particular tax change.

This would be a very difficult tax thing to phase in, in any way.  Unlike the corporate statutory rate reductions, which as we know are scheduled to go into effect over future years.

MR. SHEPHERD:  So once you made that logical step of identifying the analogy, in effect, then you had to adjust quantitatively for the amount of the impact, right?  Because the size of the tax change that you modelled in the runs you did on focus, is not the same as the size of the tax change that you are talking about here, right?

DR. WILSON:  We didn't make any adjustments.
Let's remember what we're using the simulation for.

We are using the simulation to get the distribution of effects from the year in which the tax change occurs, going forward over -- we decided to a ten-year period.

I see no reason, if we have a larger impact on the capital, if we had had a tax reform which, say, had a – well, let's say smaller.  That would be easiest.  Suppose the sales tax reform didn't remove -- there were various things tinkering with it, so it only reduced the price of capital goods paid by half the amount that the full reform would do.  We would then get smaller impact, but the distribution into the future would be the same.

All we were using this run for was to get at how we should weight the marginal effective tax rate changes that occur each year, both taking them forward from the past and looking at them going forward into the future.  That was the purpose of the exercise.

MR. SHEPHERD:  So we can imagine the response in the GDP deflator as being like a curve over time, and you basically said that curve has a certain shape and we have identified that shape from this previous run of the model.  We are going to use that same shape but with the numbers that we have from our other work.

DR. WILSON:  This shape we're using is based on the investment, the capital formation or the capital stock response each year.

We are assuming the cost reductions associated with that increase in capital intensity flow through to prices in that year.  So we are using the distribution of the response of investment to infer the distribution of response of prices.

MR. SHEPHERD:  But your output from this, in these tables, is -- they're essentially dollar amounts, right?  Because you had to calculate GDP deflator results.

So to get those dollar amounts - tell me whether this is correct - you had to, then, adjust for the magnitude of the change in the marginal effective tax rate in this case.

DR. WILSON:  The response we were using was not a dollar amount.  It was a percentage increase in the real capital stock, in Ontario, each year, the year of the tax change and then each year for ten years after that.

That was used; the distribution of those weights which then showed the percentage changes in the capital stock year by year was then applied to the estimated percentage changes in the marginal effective tax rates.

So it's a weighting, the change in the tax rates by these -- the distribution of these impacts.  There is no dollar magnitudes.  I mean we could go back and dig up nominal value, but I don't think see what the point would be, quite frankly.

MR. SHEPHERD:  All right.  How did you adjust for the fact that your previous model was based on an Ontario-only scenario and this is a cross-Canada scenario?

Is there some difference there that you needed to adjust for?

DR. WILSON:  We made no adjustments.  I doubt if there would be a big difference on these -- in this respect.  But it isn't perfect.  We didn't have -- we weren't looking at a nation-wide similar change in doing this, because of the purpose of the study.

MR. SHEPHERD:  Now, so -- I think I understand that, but then I went -– and in fact I thought that is what I understood before.  But then I went to table 1 in this J3.3, and if that is right, then tell me if this is correct.  The pattern of impacts on each of these lines 1 to 12, the pattern of those impacts should be the same in every case, except shifted over one year, shifted to the right every time.  Right?  The pattern should be the same.  It didn't look to me like that was the case, so I am seeing if you could help me.  Maybe I just missed the numbers, but it didn't look --

DR. WILSON:  Let's just look at what this table is telling you.  I don't think the pattern should be the same.

What we've got here -- has everyone got table 1?

If we look at the first column, 2008, this is saying:  What was the impact of a tax change each year in the past.  We started in -- there was a period before that where there weren't any changes.

So this, then, says the tax change made between 2000 and 2001 had a negative 0.02 percent.

Then the tax change following year in 2008 -- by the way this is actually 2007 because we built in the regulatory lag, an impact of negative 0.05, and so on.


If you skip ahead now to look at 2012, the tax change for 2000 to 2001 has disappeared.  Its effects were fully worked out the previous year.  So the ten-year cut-off on the lags are in effect here.


The other thing is the impact of the tax change for 2001/2002 has attenuated.  It has gone down from 0.05 percent down to 0.02, and this is a reflection of -- if you look at the distributed lag impact on investment, it is very weak in the very first year, and then it builds up actually to a peak in the third year, and then it tails off to the tenth year.


So you are looking here at -- as this shifts over time, you know, each year you are moving to a different point in the distribution, and then, as we get down to later years, below as we go down to look at, say, 2008/2009, you are starting to pick up more recent tax changes in the weights.


MR. SHEPHERD:  Okay.


DR. WILSON:  I don't think you can think distribution will be the same.


MR. SHEPHERD:  All right.  Well, I think that is what you just said, so let's go back.


On line 1, 2008 is year 7 of the impact; right?


DR. WILSON:  Excuse me a minute, please.


[Witness panel confers]


DR. WILSON:  My colleague points out that these numbers are the distributional weights applied to the marginal effective tax rate changes that occur in each year.


MR. SHEPHERD:  If you look at 1A, box 1A, that is year 7 of a 2001 tax change; right?


DR. WILSON:  Yes, yes.


MR. SHEPHERD:  Okay.  If you look at 2A, that is year 6 of a 2002 tax change; right?


DR. WILSON:  Right.


MR. SHEPHERD:  And, in fact, if we look at -- let's go down to number -- line 8, all right?


Then leave aside the fact that you've got a plug in there for the GST.  That is a 2007 tax change; right?  And that's year 2 of it; isn't that right?


DR. WILSON:  No.  That would be -- because of the regulatory lag, that's year 1.


MR. SHEPHERD:  Oh, that's right, that's right.


 DR. WILSON:  That does include the GST effect, which was 0.2, negative 0.2.  So the effect of the corporate rate change is weighted.  The weighted effect of the change would be 0.04 in that year.


MR. SHEPHERD:  What I don't understand is if -- take a look at line 3, for example.  If you look at 3C, that's line -- that's year 7 of the 2003 tax changes, but it is zero.  How come?


DR. WILSON:  Where are we now?  Line 3?


MR. SHEPHERD:  C.  Why would year 7 be zero?


DR. WILSON:  It could well be rounding.  I mean, we have it here at a very small rate.  


MR. SHEPHERD:  I see, I see.  Okay.


Now, in that column that is headed up "Tax Change Impact".


DR. WILSON:  Yes.


MR. SHEPHERD:  You don't have calendar years.  You are using federal government fiscal years; right?


DR. WILSON:  No, I'm not.


MR. SHEPHERD:  What are you using, then?


DR. WILSON:  These are the changes from 2000 to 2001.


MR. SHEPHERD:  So what we should look at, then, is the -- the second year is the year of the change.  The first year is the base year.  The second year is the year the change occurs in each of those cases?


DR. WILSON:  Yes.  This would be -- well, in some cases -- like, a change that occurs towards the end of 2000 could have a positive impact on the change 2001 over 2000.  That certainly was the case with that first GST effect which went in at mid-year in 2006.  So it had an impact on 2006 over 2005, and also on 2007 over 2006.


For changes that occur on January 1st of the year, then you are correct.  Like, it would have to be precisely at the beginning of the year for you to say it's that change, because changes late in the year, even in the middle of the previous year, would have some impact on it, just as changes made in the middle of 2001 would have an impact on 2002.


MR. SHEPHERD:  Okay.  So take a look at line 9.  This is basically the changes that took effect on January 1st, 2008; right?


DR. WILSON:  Yes.  The GST kicking in first, that would have a negative 0.4 percent on the 2008 over 2007 percent change, and that, with regulatory lag, shows up under 2009.


MR. SHEPHERD:  Are there included -- in line 9, are there included any changes that took place before 2008, before calendar 2008?


DR. WILSON:  Well, I can't be sure of that.  I would have to -- the marginal effective tax rate calculations that Chen and Mintz do, they're provided on a year-over-year basis.  But whether they -- what the precise timing -- like, there is a 0.02 percent.  So whether that is only for corporate tax changes occurring in 2008 or whether there was some effect of changes that went into effect during the previous year, I can't tell you that.


I mean, what we're putting in here is the year-over-year change, and, you know, it isn't going to make any difference to that whether the thing went into effect December 31st or January 1st.


If the changes occur during the preceding year, there's still going to be some impact on that rate of change, but I just used their annual changes in those marginal effective tax rates in these calculations.


MR. SHEPHERD:  I guess I thought the point of this chart was so that we could disaggregate the components of the effect you were talking about, and one of those components is -- you were actually specifically asked by the Board to give them this -- the tax changes in the IR period, what's their impact on GDP in the IR period?


So are you telling us that this line 9 may actually have some pre-IR changes in it?


DR. WILSON:  You spoke very quickly.  Could you repeat?


MR. SHEPHERD:  Okay.  My understanding of what the Board asked you to give it was a breakdown that would allow the Board to identify the impact on the GDP deflator of the tax changes that occur in the IR period, which starts January 1st, 2008.


So I am trying to get at whether line 9, which we thought was only tax changes in the IR period, may include some pre-IR changes.  That's possible, isn't it?


DR. WILSON:  No, I don't think so.  I mean, look, we have done this.  Let's just cut right to line 14.  That gives you the sum of the impacts of all the tax changes that occur within the -- that would have an impact within the IR period, and then we added in the ones that were previous to that.  We are including '06/07, because that did -- any change there would, clearly, have an impact because of the regulatory lag.  That's why we used that cut point.


So it is that line, I think, that meets the Board's request, line 14.  But if the Board wants us to do some alternative calculations, we are prepared to do that.


I do think -- I think in response to this -- one of these latest interrogatories, we moved that line by one year.


MR. SHEPHERD:  Okay.  That wasn't my question, though, Dr. Wilson, sorry.  We're going to get to that revised chart in a minute.


What I am trying to understand is I thought each of these lines was one year's tax changes.  This year is 2008.  This year is 2009.  And I took your statement earlier that it might not be, because tax changes during the previous year might not be captured until 2008, and, therefore, would be included as if they happened in 2008.  Is that right?


DR. WILSON:  If you look at a year-over-year change --


MR. SHEPHERD:  Sorry, sorry.  Dr. Wilson I need you to give me an answer to the question first.


DR. WILSON:  I can't give you an answer.  You keep trying to put words into my mouth.  If I could explain?


Any year-over-year change, and any variable when you do it year over year, is affected by when the changes occurred in both years.  It doesn't have to be a tax change.  Like, when we're doing forecasting, if GDP suddenly goes up in the fourth quarter, that has a carry-over impact in the year-over-year change that is much larger than if the GDP went up in the first quarter and then was constant after that.

So if we look at any of these changes, the tax change that occurs in either of those years could have an impact on the annual rate of change.  That's all there is to it.  I mean, I don't know what else I can say.

MR. SHEPHERD:  That's fine.  This line 9 will include all of the tax changes that were announced in the March 2007 federal budget and the October 2007 economic statement, right?

DR. WILSON:  I think the data in the table is as of December 31st.  So it included what was in the statement, but did not include anything in the budget.  Right?

MR. SHEPHERD:  Well, the budget changes we're effective January 1st, 2008, so presumably they're in there, right?

DR. WILSON:  As I said, it was December 31st.  We can check that, but I think that was stated.

MR. SHEPHERD:  Sorry.  We are talking at cross-purposes --

DR. WILSON:  We did not include any changes in the March federal budget.  We included the changes that were announced in the October statement, and we include changes that are scheduled to be taking place in the future.

MR. SHEPHERD:  Sorry, let me --

DR. WILSON:  We didn't include anything in the recent Ontario budget.
MR. SHEPHERD:  Let me rephrase the question.

Line 9 includes changes announced in the March 2007 budget to take effect January 1st, 2008 --

DR. WILSON:  Sorry, I misinterpreted you.  I thought you were talking about the recent budget.

MR. SHEPHERD:  No.

DR. WILSON:  Yes, it would include anything in that.

MR. SHEPHERD:  Now, this chart also doesn't include any of the tax changes scheduled for 2012.  I take it that is because of the one-year regulatory lag?

DR. WILSON:  That's correct.  Those would have an impact, you know, if the IR were extended, for example, in a simple way, then they would be impacting the following year.

MR. SHEPHERD:  Perfect.  Your base case assumes that the distributed lag effect is over ten years, I think you said.  But that is not a guess, right?  The model actually empirically determines that the ten-year period is the pattern, right?

DR. WILSON:  The model -- I discussed this issue with our model manager Peter Dungan, who actually did the simulations.  It is his judgment that this is approximately the time period required for roughly complete adjustment.

We did not run the model out further, and in order to test what might happen if we had a longer lag.  I did that alternative run where we arbitrarily increased the lag period by three years.

MR. SHEPHERD:  I am going to come to that in a second.  I just want to understand what you are saying.  Was the ten-year distributed lag, was that an input that you -- an assumption you made?  Or is that something that the model told you when you put in the data?

DR. WILSON:  The model tells us nothing.  The model tells us what the model manager has put in and the equations in the model.

In this case, since one of the issues in the study was, we wanted to contrast immediate and medium term results over a five-year period, and when the study comes out, the tables will show results over the first five years, and then skip to the tenth year, and that was because it was Peter Dungan's judgment that the tenth year represented approximately a long run equilibrium having been achieved.

I trust his judgment because he and our research associate do long-term projections for the Canadian economy for 25 years ahead, every six months.  So they have a good feel for when the model has converged.

But it wasn't part of this exercise to try and precisely pinpoint when it was fully adjusted.

I may also point out that if you extended the lag out a bit, it may well be, yes, it takes another year or two but the effects might be very, very small if you were doing that.

MR. SHEPHERD:  Okay.  Now, you said I think the other day that when you run the model for this type of tax change -- not this particular tax change, but in the case you did the RST tax change -- it projects that the first year impact is very small.  It is only two or three percent, right?

DR. WILSON:  For capital formation, yes.

MR. SHEPHERD:  Yes.  But then there are larger impacts.  The pattern builds, and then it tails off later.  Right?

DR. WILSON:  Yes.

MR. SHEPHERD:  Okay.  So, but as you said, that depends on the assumptions you make designing the model.  You have a very experienced model maker, but it is normal practice to do a sensitivity analysis of some sort to see what the difference is if you estimated it slightly differently.  Right?  It's a common thing to do.

DR. WILSON:  Can you give me an example?

MR. SHEPHERD:  What you did, for example, is you said:  Well, let's assume what there is a three-year anticipatory effect, on one end.  The let's assume that there is a 13-year distribution instead of a ten-year distribution.

DR. WILSON:  Oh, yes, okay.  The 13-year is an example of sensitivity.  I think in the case of the anticipatory effect, this was an attempt to put an anticipatory effect in.

I think, as I had indicated last week, we had in the past done some more complex analysis of corporate tax changes to -- with the model, to let the model in a sense measure the strength of anticipatory effects.  And that was for the corporate tax reforms back in 1986.

So we did have evidence of anticipatory effects.  Department of Finance certainly feels very strongly that there are anticipatory effects, and we thought a very simple way of allowing for these was to say, let's assume the period of adjustment is shortened, which means roughly the -- in the first seven years, you are boosting response by 23 percent, relative to what it was in this, in table 1.

MR. SHEPHERD:  So I guess I would have thought if you were modelling an anticipatory effect, you would take your ten-year period and you would shift it over three years, so that you had basically a sort of a start in year minus three and go to year seven, as opposed to starting in year one and going to year ten.

DR. WILSON:  That would be the correct approach if the tax changes that we are looking at had been legislated three years ago.

In this case, what we're dealing with is tax changes going forward that were announced in the October statement.  Then there was the preceding five-year tax reduction plan, which was late in 2000.

Again, Finance's judgment is interesting on that one, that they -- that this was first proposed in the budget of 2000, but I don't think it was actually stated in legislation until late in the year.  So they felt the big impact was in 2001 of those changes.  So that would be a much larger acceleration than what we have allowed for here.

MR. SHEPHERD:  Well, okay.  So --

DR. WILSON:  You couldn't really take it into the past unless you were dealing with --

MR. SHEPHERD:  If I understand correctly, then, what you did you took a ten-year distributed lag and you scrunched it into seven years.  Same shape?

DR. WILSON:  Yes.  We basically -- in the original distribution in table 1, by the seventh year, I think about 81 percent of the capital stock adjustment had occurred.  So we simply scaled everything up by one, divided by 0.81, for all of the previous coefficients.  So that means there is a proportionate scaling up of the investment response to take into -- to make allowance for anticipatory effects.

MR. SHEPHERD:  The total ends up being the same.  It is just over seven years instead of ten, right?

DR. WILSON:  I couldn't hear you.

MR. SHEPHERD:  The total ends up being the same? 

DR. WILSON:  Yes.  The sum of the weights is 100 percent.  So the total capital -- the sum of the weights is 100 percent.  It is just how you are weighting these annual changes.

MR. SHEPHERD:  So then when you did the, as you call it, the sensitivity run, and you changed your ten-year assumption to 13, you did the opposite, right?  You stretched it in the same way?

DR. WILSON:  Not quite the same way.  What we did, we looked at the pattern and we just sort of extended the pattern forward for 13 years and then recalculated the weights.

MR. SHEPHERD:  Was the sum of the weights still 100 percent?

DR. WILSON:  Oh, yes, still 100.  As always, the sum of the weights would be 100 percent.

MR. SHEPHERD:  Tell us what the algorithm was, then, to adjust. 

DR. WILSON:  I do not have an algorithm with me.  I could describe what we did, which was to simply, if you look at the last few years, there's a kind of -- you can see a diminishing effect on investment as we are approaching the terminal year, and we just said, well, suppose instead of cutting off, we just extended that diminishing result going forward.  We added a little more capital, and then we did the distribution of that, the total capital formation over that 13-year period, allocated it over the 13 years prior to that.

So it would be 100 percent accomplished in the 13th year, and then less -– well, of course, and there would be things in the 11th and 12th year.  And the tenth year, instead of 100 percent, you would have something less than 100 percent.

MR. SHEPHERD:  So that means that when you did your sensitivity analysis to extend the period, it didn't affect the first three years at all; right?

DR. WILSON:  It did affect the weights in the first year, because we were allowing for additional capital formation to occur in those last additional three years.

So then when we divide the first year amount capital formation by the larger amount, the weight comes down.


MR. SHEPHERD:  I see, okay.  So last week we talked about your focus model, which of course some of this is based on indirectly, and I wondered, then, why you didn't just do a run of the model to see the impact of the changes that we're talking about here as opposed to using it by analogy.  You said it wasn't very simple.

So what you are talking about now, the steps you are talking about now, sound actually like they're non-trivial.  It sounds like a lot of work.  So I actually looked at how the focus model works, because there is a manual; right?  It tells you how to do it.

It is true that in the focus model, when you run it for the federal budget, for example, you actually specify the corporate income tax rates, the high rate and low rate; right?  They're numeric inputs?

DR. WILSON:  That's correct.

MR. SHEPHERD:  You did, in fact, run the focus model and produced a full set of results, including GDP deflator, for the 2007 budget, the 2008 budget and the economic statement, didn't you?

DR. WILSON:  I have been -- well, I can't say that is correct for the economic statement, but certainly we have done that, and it is my colleagues who run the model and I do some of the writing.

There was an interrogatory response that I think we had been asked about that, and it was pointed out that doing the analysis of all of these corporate changes going forward in the model would be complicated and would be expensive and would take time.

MR. SHEPHERD:  So what I don't understand is, if you already ran the model for the budget, why wouldn't you just run it again with the old tax rates so you have a base line, and calculate the difference?  How hard is that?

MR. PENNY:  With respect, Mr. Chairman, two things.  First of all, we are covering old ground here.  Mr. Shepherd has already asked Mr. Wilson about this issue, and you may recall Mr. Wilson said that when you do these runs on the budget, there is a lot more in there than just corporate tax changes.  

He has also told Mr. Shepherd and the Board that to actually reconstruct what it seems Mr. Shepherd would like to do, which is do a completely new creation dealing just with corporate tax to answer the oddball problem that we're ending up with here, would be complex and expensive.  

So we are covering old ground, with great respect.  

The second thing is that this does not, with great respect, arise out of Exhibit J3.3.

MR. SHEPHERD:  Mr. Chairman, I guess, with respect to Mr. Penny, this arises directly out of this.  I am challenging the methodology used to produce these numbers, and I am saying there was a simple way to produce these numbers.  

The witness was asked to produce them.  He is already telling us there are a whole lot of things in there that are judgment and analogy, and, well, maybe it is this way.  And, frankly, there was a better way to do them, and I am asking what I think is a legitimate question:  Why didn't you do it the right way?

MR. KAISER:  Whether it is the right way or not, I think Dr. Wilson said there is this interrogatory that was referred to, that it is not a trivial matter to rerun this model, and they haven't done it.

MR. SHEPHERD:  I understand.

MR. KAISER:  They answered the interrogatory on that basis a long time ago.

MR. SHEPHERD:  I have a follow-up question on whether they have done it.

MR. KAISER:  All right.

MR. SHEPHERD:  That's where I am going.

MR. KAISER:  You think they have done it, but they just haven't produced it?

MR. SHEPHERD:  No, no.  I don't think these witnesses would lie on the stand.  That's not my view, but --

DR. WILSON:  The reason we use this particular run, it was a lot of work, but we were doing it because we had this commitment, the contract to prepare this study for C.D. Howe, precisely looking at the impact of the sales tax reform.

Had we been having to do a study of the impact specifically of corporate tax reform going forward, corporate tax changes, say the Department of Finance had engaged us to do that, then that would have been very nice.  We would have had that handy to say, Yes, we can share that with you, but we haven't done that.

So that's why we picked that particular simulation.  Again, just to emphasize, we are not using the model for anything other than to get the distributional weights to apply to these marginal effective tax rates that were produced by Professor Mintz and Duanjie Chen.

MR. SHEPHERD:  So the question I want to ask is this:  People who run complex models typically - and I am sure you do it, too; everybody does it on a regular basis - do what in technical terms is called a quick and dirty.

You don't run the model, but what you do is you take an old run and you tweak some things to see what you think you would get if you ran the model properly for the new study.

It is a way of foreshadowing whether it is worth doing the work.  Did you run a quick and dirty on this, or anybody that you know of?

DR. WILSON:  I do not run the model.  If you want, I can -- at the break, I will call my colleague, Peter Dungan, and ask him if he did anything quick and dirty in connection with this study.  I think after I hold the phone away from my ear -- I mean, there is exploratory work, if that's what you mean by quick and dirty, and we do -- it was a lot of work just getting the Ontario stuff set up in the model to do the analysis.

And we were, in the study, looking at alternative ways of bringing in the tax reform.  So there were alternatives run.

But whenever you are doing runs with a model, it isn't a matter of quick and dirty.  It is a matter you make some changes and you look at the results, and then sometimes you see something bizarre.  Then you realize there is something in the model that's -- was designed for some other purpose and we better shut that thing down, because it is having some bad feedback effect.

So it takes a bit of tuning to get the model to deal with the problem you are working with at hand.

I wouldn't describe -- I think when you use the "quick and dirty", it might be you're referring someone doing a short-term forecast where they might say, Well, let's take our last quarter's run and we will just plug in some new numbers, run it out before we look at anything else, and then take it from there.

MR. SHEPHERD:  Let me -- that's fine.

Let me turn to a new subject, still on this spreadsheet, table 1.  I want to make sure I understand what tax changes are actually included in the spreadsheets.

So you have said that one of the things in here is the GST changes in 2007 and 2008; right?

DR. WILSON:  Correct.

MR. SHEPHERD:  I actually went under the -- you -- thank you very much.  You sent me an Excel version of this and I went under -- looked at the formulae.  It looks like all of these numbers are actually outputs from some other spreadsheet, because they're a very long series of digits.  So they look like they're an output, except for these two boxes, 8A and 9B, which have a manual adjustment.  That's the GST adjustment; right?

DR. WILSON:  Which box are we in?

MR. SHEPHERD:  8A and 9B.

DR. WILSON:  Yes, there's a GST adjustment.  I mean, the GST is put in because it was not, as I explained last -- earlier this week, the GST has an immediate impact on the final demand deflator.  It isn't -- so this whole distributed lag was to look at the investment effects, what is a reasonable capital stock response to the corporate changes, but the GST, we didn't want to give the same treatment.

MR. SHEPHERD:  Now, the GST effect -- so all you did is you just in box 8A you subtracted 0.2, and in box 9B you subtracted 0.4 to what your model was producing otherwise; right?

DR. WILSON:  Yes.

MR. SHEPHERD:  The GST effect is not a capital investment effect, is it?  It is a direct effect on the deflator?

DR. WILSON:  On the prices, yes.  On the deflator.

MR. SHEPHERD:  Okay.  You calculated that effect from some other work you've done on how the GST hits the GDP deflator immediately; right?

DR. WILSON:  Well, we looked at Statistics Canada data on what the magnitude of the reduction was, and we have the data for the size of the domestic final demand.  And you divide that and you get -- it's just -- it is slightly below 0.4 percent. 

Statistics Canada, I believe, has published an estimate saying they thought the direct effect on the overall consumer price index was about minus 0.6 percent, because of course there's quite a lot of things in the consumer price index that are not subject to GST.

MR. SHEPHERD:  Okay.  Now, are there any other indirect taxes included in this?

DR. WILSON:  No, there are none other.  We did look at whether there were any significant provincial taxes.  There was a small reduction, I think, in the Saskatchewan sales tax, I think in late in 2006.  We didn't include that.  We didn't think it was worth it.

MR. SHEPHERD:  The impact would not be material?

DR. WILSON:  I don't think it would be big.  In any case, it was negative.  It was a cut.  So, if anything, it would reinforce the -- would give a larger impact on the GDP deflator.

MR. SHEPHERD:  Okay.  So now take a look just at lines 9 to 12.  These are the tax changes occurring during the IR period.

DR. WILSON:  Right.

MR. SHEPHERD:  Correct me if I am wrong, but these include the changes in the corporate tax rate effective 2008, '09, '10 and '11.  Right?

DR. WILSON:  Right.

MR. SHEPHERD:  And include the changes in class 1 and class 45 CCA?

DR. WILSON:  If that's in that period, yes.

MR. SHEPHERD:  And the changes in Ontario capital tax?

DR. WILSON:  As long as they were announced prior to the December 31st, yes.  Doesn't include the later changes in the Ontario budget.

MR. SHEPHERD:  Oh, that's right.  There is some additional reductions, aren't there?

DR. WILSON:  Yes.

MR. SHEPHERD:  So this 80.51 million is actually low, isn't it, now?

MR. PENNY:  Again, Mr. Chairman, we have been over this an awful lot.  The 80 million is not a real number.  We all know that.  It is based on 2007 revenue requirement, which we know is not going to be the basis on which these numbers are actually going to be calculated on a year-to-year basis as we do each rate-setting exercise.

MR. SHEPHERD:  Let me rephrase the question.

There is now an additional impact of Ontario capital tax that we didn't know about at the time that we were writing the -- that you were giving us numbers.

DR. WILSON:  There is also additional impacts of the extension of the capital cost allowance rates for manufacturing in the recent federal budget, which aren't included.

MR. SHEPHERD:  Okay, good.  So these numbers might be higher?  These tax savings --

DR. WILSON:  Yes.

MR. SHEPHERD:  May be higher?

DR. WILSON:  And the GDP effects could be different too.  It was just before -- if I can digress for a -- this book, I was telling Michael, it took a lot of work.

Part of our problem was, just as we were reaching fruition, oh, there's another federal budget.  So we were back to the drawing board.  At some point, I think it was my wife who was doing all of the typing, said:  Look, we have to bring this to closure.  So we did it.  It came out in '93, but it doesn't include anything beyond 1991 in terms of analysis.  We're in that situation.  December 31st was what these things were prepared for and --

MR. SHEPHERD:  Now, in addition to the three tax changes we just talked about, are there other tax changes included in lines 9 through 12?

DR. WILSON:  I am using -- these are the weights applied to what Chen and Mintz did with calculating marginal effective tax rates.

There may be a small, I think in -- we applied this weighted distribution to the cost of the marginal effective tax rate on cost of business, and there was a small reduction in labour costs.  I think 0.2 percent in one of the years, and then 0.02 percent.

But we didn't separate that from the capital, which perhaps we should have done.  If we did, you could argue that there would be -- some of that would be boosting 2008 a little more negative as a result of that, rather than carrying it forward.  That is about the only thing I can think of.  There were no built-in reductions in labour taxes going forward.

MR. SHEPHERD:  I am looking at page 6 of your original evidence, the Mintz and Wilson original evidence.  It has a list of tax changes.  It includes reductions in capital tax in New Brunswick, Nova Scotia, Quebec, Saskatchewan; income tax changes in other provinces.  A number of taxes that don't actually affect Union, but affect the GDP.

DR. WILSON:  Yes.  That's right.

MR. SHEPHERD:  They would all be in here, right?

DR. WILSON:  Sorry?

MR. SHEPHERD:  The impacts of those would all be included in these --

DR. WILSON:  Yes.  Any federal and provincial taxes that are specified there would be included.

MR. SHEPHERD:  Okay.  So now let's look at lines 1 through 8.  These also include a series of corporate income tax reductions in 2001 through 2005, right?

DR. WILSON:  Yes.

MR. SHEPHERD:  Then, and it would include all of the other sorts of things that you are talking about, things like changes in capital taxes and stuff like that?

DR. WILSON:  I presume so.  These calculations are done by Professor Mintz, who is not here, with his associate, Duanjie Chen.  I was not involved in these calculations.

MR. SHEPHERD:  Well, that creates a difficulty, because we sort of need to know what is in these numbers.

DR. WILSON:  I believe there was a lengthy response to an interrogatory on how these numbers get derived, and you've got the statement in our original evidence.  And that was prepared jointly, but I mean that was Professor Mintz's.  When we divided our labour, he's the expert on that model.

MR. SHEPHERD:  So I can just assume that in J3.3 and also in J6.1 and K7.1, these spreadsheets, the underlying tax changes that are modelled in the GDP are the ones that we saw from the previous evidence.  Is that fair?

DR. WILSON:  I couldn't hear you again.  You spoke too rapidly.

MR. SHEPHERD:  I'm sorry.  I am excited.

DR. WILSON:  Okay.

MR. SHEPHERD:  The only one in the room, probably.  We can presume that the tax changes whose impact is modelled on GDP here in these spreadsheets, the ones that you are testifying to, that they are the same tax changes that we saw in the previous evidence that were listed in the description of what Mintz and Chen did, right?

DR. WILSON:  Well, these tax changes in this table are going back a lot farther.

The source of these tax changes is a publication of the C.D. Howe Research Institute, where Chen and Mintz did produce a table of marginal effective tax rates on capital year by year.

I've got a lot of faith in their work.  I believe they would take into account all relevant capital and statutory rate changes, CCA changes and so on.  And that's what we drew upon.

I don't believe the numbers back like in 2001, 2002 were in our previous evidence.  Were they?

MR. SHEPHERD:  Can you help me with one line in this?  One line is confusing me.  It has quite a substantial impact and I don't understand it.  This is line 8.  Line 8 is the 2007 tax changes.

DR. WILSON:  Right.

MR. SHEPHERD:  So I understand the 0.2 in 2008 related to the GST.  That's fine.

DR. WILSON:  You mean 0.42?

MR. SHEPHERD:  No.  Actually – sorry, 2006, 2007.  Did I say 2007 and 2008?

DR. WILSON:  You said 2007-2008.

MR. SHEPHERD:  Line 8.

DR. WILSON:  Okay, line 8.  

MR. SHEPHERD:  All right?  So that is the 2007 tax changes, all right?  And I understand there is an impact of 0.2 on GST in 2008.  But what I don't understand is these are the biggest numbers.  Every year subsequent, they're the biggest numbers.  But I remember those tax changes.  Those weren't actually big tax changes in 2007.  The big tax changes are in 2008.

So I don't understand what is going on there.  Can you help me with why those numbers are so big?

DR. WILSON:  According -- to go back to our old table 1, the difference between, the percent change in the marginal effective tax rate for Canada, 2007 relative to 2006, was minus 5.7.

The difference in 2008 relative to 2007 was 2.8 percent.

So the big impact was, indeed, 2007 over 2006.  And then that's working through -- you remember I mentioned the third year is the peak year.  That's why it builds up to a negative 0.28 in 2010, and then starts to gradually tail off after that.

MR. SHEPHERD:  All right.  Before we leave this, you were asked whether you could estimate the monetary policy impact on these numbers, and I understand from Exhibit K -- what is it, K7.2, that all of the runs of focus you did had a monetary policy response in them?

DR. WILSON:  No.  That is not what this says.

The run we did here, which did include a monetary policy response, we did not have a comparable run to this one without a monetary response.

MR. SHEPHERD:  Oh, sorry.  Let me rephrase it.

When you were doing your RST to GST study, you didn't do separate runs with and without a monetary response, right?

DR. WILSON:  It turns out we did do one run without a monetary response.  We did not report it.  We will not be reporting it in our paper.  It didn't correspond to this particular run.  It was a different set of assumptions about what else was happening.

In this particular run, because we had selected this run because this is the kind of tax reform we're recommending, which involved the reform occurring simultaneously with the GST reduction, and Ontario being able to bring it in at a 7-1/2 percent rate rather than the current 8 percent rate.  


But we did have another -- one of our other runs -- we'll be presenting, I think, about five different runs in this model.  One of our other runs we also did without the monetary policy response, just to satisfy one of our co-authors.


MR. SHEPHERD:  Of course --


DR. WILSON:  But it didn't correspond to this one.


MR. SHEPHERD:  So you don't have basically a control run to disaggregate the component that is monetary response from the rest of the impacts; right?  


DR. WILSON:  Well, I looked at those two particular results and there is not a large change when you put a monetary response in, in terms of the distributed lag effects.


MR. SHEPHERD:  Of course one of the reasons for that is that you're messing with the GST, which is not included in the Bank of Canada's numbers; right?


DR. WILSON:  I beg your pardon?


MR. SHEPHERD:  What you are dealing with is the GST; right?  The Bank of Canada doesn't even consider GST changes in their targets, do they?


DR. WILSON:  We are not talking about a GST change here.  We are talking about Ontario reducing -- substituting a new tax for an old tax.


Let me just give you an example.  If you were to do this harmonization, as it is called, bring it -- let's say we just did straight GST at 8 percent in Ontario.  Consumer prices in Ontario would increase, because it is reallocating the amount of the indirect tax from business and capital goods to consumption.


Now, the Bank of Canada may not react.  I don't know whether they would or wouldn't, because this is a reallocation of indirect tax rather than an increase in it.


But if the Bank of Canada -- the Bank of Canada might not react, but it certainly always -- in our model, we always have it acting to make sure it mitigates subsequent developments, wage-price spiral effects and so on.


So given that this sort of change would tend to put upward pressure on consumer prices and, therefore, eventually on wages, that's the kind of thing the bank wants to block, is to make sure there is no second round effects of any indirect tax changes feeding into the wage-price spiral.


MR. SHEPHERD:  Let me now turn to the materials that we -- that you filed with the Board this morning, that we got yesterday.


There are two components to this.  First, there is a set of three tables in response to J6.1 requested by Mr. Thompson.  He basically asked you to move all of the pre-IRM tax changes to the above the line section in your spreadsheet so that we could isolate the tax changes during the IR period; right?


DR. WILSON:  Correct.


MR. SHEPHERD:  If I understand your table 1 correctly in J6.1, what this says is that there is a $21.58 million price offset of the tax savings, the $80.5 million tax changes, or about 26.8 percent; is that fair?


DR. WILSON:  I think this is a question for Mr. Packer.


MR. SHEPHERD:  That's fine.


MR. PACKER:  The number you reference is on the schedule.  Both Dr. Wilson and myself I think have described why that approach isn't the right one to take, but the number does appear on the table, yes.


MR. SHEPHERD:  That's okay.  I understand that.  I am just trying to make sure that I understand that that is the result of this particular analysis.


MR. PENNY:  Sorry, is the question you're asking a confirmation that if you take a percentage of 21.58 over 80.51 that we get a certain percentage?


MR. SHEPHERD:  I guess so.  26.8; right?


MR. PACKER:  I did not bring my calculator with me today.


MR. SHEPHERD:  We will verify that later.


MR. PENNY:  Is it really necessary to take up our time conducting a percentage calculation, which is quite obvious?


MR. SHEPHERD:  That's okay.  You don't need to calculate it.  Mr. Penny thinks we're wasting our time here, so let's go on.


So tables 2 and 3 have sensitivities around that; right?  They show what would happen if you put in anticipatory effects, you reduce it to seven years or if you increase it to 13 years.  Then you'd get a range of 25 to 29 percent.  Please don't do the calculations.  Isn't that right?  Am I roughly correct?


MR. PACKER:  I don't know without doing the calculations.


MR. SHEPHERD:  All right.  The range is - these are your numbers now - 20.82 million to 22.34 million; isn't that right?


MR. PACKER:  Those are the numbers that appear on the schedule, yes.


MR. SHEPHERD:  Now, these numbers include the GST; right?  So if we go to K7.1, it is correct, isn't it, that you forecast that the corporate income tax changes and the corporate capital tax changes in the IR period will impact the GDP deflator for your prices, for your rates, by 7.61 million out of the 80.51 million; right?  That's what it says.


MR. PACKER:  We're not saying this represents anything.  That's what it says, yes.  We answered the question given the set of assumptions we were asked to reflect.


MR. SHEPHERD:  Those assumptions are:  No GST change and no changes before 2008.  And if you do that run -- it is your model; right?  Your model shows $7.61 million, isn't that right, with those changes?


MR. PACKER:  I am not sure what you mean by a model.  The calculations are pretty straightforward.  There is no expertise required specifically to crunch the numbers.  The third change that we just reflected here is the 2007 through 2006 line, which used to be in the bottom part of the table, has been moved into the top part of the table as per the request of intervenors.


MR. SHEPHERD:  And the GST has been removed?


MR. PACKER:  That was one of the two changes you gave me previously, yes.


MR. SHEPHERD:  Correct me if I am wrong, but can we then conclude that the impact of the GST is about $14 million, 21.58 million minus 7.61 million; 13.97 million?  Isn't that right?


DR. WILSON:  Where are we on this?  Is this the one without the GST?


[Witness panel confers]

MR. PACKER:  I think -- again, I think your arithmetic is correct.


MR. SHEPHERD:  Okay.  Just one more thing.  This is a five-year IR plan.  Tell me if I am right that -- again, I understand you don't agree with the assumptions in this spreadsheet, but assuming these assumptions, tell me if I am right that in a three-year IR plan the ratio would be -- 1.24 million out of 35.09 million would be reflected; isn't that right?  


Just take a look at 21C and 18C.  That would be the correct ratio for how much flows through on these assumptions; right?


MR. PACKER:  Can you give the numbers again, please?


MR. SHEPHERD:  1.24 million divided by 35.09 million.


MR. PACKER:  Again, with all of the caveats you have given, those are the numbers on the page, yes.


MR. SHEPHERD:  Okay.  Now, you have given us some spreadsheets, now three different sets, because we gave you three different sets of hypotheticals, that have themselves three components to it.  There is the GDP impact.  We agreed that is 13.97 million; right?


The impact on the price changes that you have got in your spreadsheets is 13.97 million for GDP.  Those two adjustments, 0.2 and 0.4, produce a $13.97 million difference, don't they?


MR. PENNY:  For GDP?


MR. SHEPHERD:  Sorry, for GST.  Even I am confused.  Isn't that correct?  GST?

MR. PACKER:  I think I answered that question, yes.

MR. SHEPHERD:  Okay.  Then the second part of it is the changes that occurred prior to 2008.  The tax changes that occurred prior to 2008 have an impact during the IR period.  Right?

MR. PACKER:  The prior tax changes are affecting the GDP deflator that we use in our pricing formula, yes.

MR. SHEPHERD:  Am I correct that that number is 59.14 million?  I will tell you how you get that.

You go to Mr. Thompson's table 1, that's J6.1, table 1.  You take the total impact, 80.72, and you deduct the impact in the period, 21.58, to get 59.14.

So that's the effect of the prior year, the prior tax changes, correct?

MR. PACKER:  Can you restate that, please?

MR. SHEPHERD:  You have three parts to this puzzle here.  You have the GST impact on your rates -- on GDP and therefore on your rates.  You have the effect of prior tax changes on GDP and therefore on your rates.  And you have the effect of in-period tax changes, and their effect on the GDP and then your rates.  So I am trying to get the three numbers.

So the first number is 13.97; we have agreed on that.  Second number, the impact of the prior tax changes on your rates during the IR period is $59.14 million.  Correct?

MR. PACKER:  Sorry.  How do you calculate the 59 million again?

MR. SHEPHERD:  Total impact is 80.72 million, that's your number.  J6.1, table 1.  Total impact 80.72 million.  That includes the prior.

So deduct from that the in-period impact 21.58.  The difference is 59.14.  That's the prior period impact, right?  It can't be anything else.

MR. PACKER:  That appears to be correct, yes.

MR. SHEPHERD:  So the remainder, 7.61, which we just talked about, that's the impact of the non-GST tax changes during the IR period on GDP and therefore your rates in the IR period.  Isn't that right?

MR. PACKER:  Sorry.  You are starting to lose me.  Can you repeat that?

MR. SHEPHERD:  Okay.  I will do it slower.  The $7.61 million that we were just talking about in K7.1, table 1, that $7.61 million, that is the impact on your revenues through GDP of the changes in non-GST taxes that arise during the IR period.  Right?  Those changes during the IR period, they have an effect during the IR period.  That effect, $7.61 million, correct?

DR. WILSON:  May I interject here?  I have a question.  Are we including the 2006-2007 impact on the GDP deflator as part of the IR period, because that does impact on the price cap for 2008?

MR. SHEPHERD:  No.  We are not.

DR. WILSON:  You're not, okay.

MR. SHEPHERD:  No.

DR. WILSON:  So where are we?

MR. PACKER:  I am not sure where we are.  I'm sorry.

MR. SHEPHERD:  All right.  I knew this would be hard.

DR. WILSON:  May I interject here, just again, this kind of thing, if you had provided a table with all of these numbers, then it would be much quicker for us instead of trying to match up one line here to one line there.

MR. SHEPHERD:  I got this last night.

DR. WILSON:  Is it possible we could have it at the break?

MR. SHEPHERD:  I got this last night.  They are your numbers.  You know these answers.

So let's go through it again.  There are three components to your $80.72 million.  13.97 GST, 59.14 million in prior period impacts.  You have agreed to those.  The remainder, 7.61 million, that's the impact of the in-period amounts.  Right?  It's right on K7.1, box 21E.


It's your number.  Do you want to look at that over the break and answer that question after the break?

MR. PACKER:  I can take it subject to check right now.

MR. SHEPHERD:  Thank you.

Now, with that division of the problem into three components, let me start with you, Dr. Wilson.

I looked back at your original paper from the beginning of January and I didn't see any reference in that paper to the impact of the GST cuts or to the impact of prior year -- prior period tax reductions.  None of that was in there then, was it?

DR. WILSON:  That's correct.  We were, in that original submission, looking only at the issue whether some tax changes occurring in 2006-2007 and 2007-2008 were putting -- were unduly benefiting Union and we were looking strictly at the meter and marginal effective tax rate on capital at that time.

It was then later on in our reply evidence, that we started looking at other factors.  So the table is prepared -- where we were asked to, say, well, what was the impact on GDP?  We didn't address that issue at that time.

We did in our reply evidence, and we did in our tables in our reply evidence include the GST in the calculations.

I think that -- I feel very strongly that that is the clearest issue, that the GST adjustment is required, for the reasons stated in the material that we filed today, or yesterday.

MR. SHEPHERD:  Tell me whether this is correct, that based only on the 2007 and 2008 changes, based only on those changes, you concluded that those would be fully offset by changes to the GDP deflator during the IR period, didn't you, in your original paper?  I can read it to you if you want.

DR. WILSON:  I am looking at it.  I'm looking at it.

This is what our conclusion was:
"These results indicate the effect of an industry-specific measure.  The increased CCA for natural gas pipelines is more than offset by other federal and provincial tax measures introduced in 2007."

So that's what we conclude, that the national GDP file demand deflator would more than compensate for the effect of corporate tax reductions on natural gas distributors in Ontario.

That was based looking only at 2006-2007 and 2007-2008 and implicitly assuming all of that would occur during the period.  We didn't address some of these other issues until they -- in response to interrogatories and other matters.

So at the time, this paper was prepared in a very short time period.  We were focussed on the meters at that time.  And that was the conclusion.

MR. SHEPHERD:  It was wrong though, right?  The conclusion was wrong.

MR. PENNY:  Mr. Chairman, with great respect, again this issue, the issues that Mr. Shepherd is asking about now have been on the table at least since the reply evidence was filed.  There was extensive cross-examination when both Mr. Mintz and Mr. Wilson were here, on the lag issue and on the GST.  And these questions, with great respect, do not arise out of these answers that have been given.  We have been over this ground before.

Mr. Shepherd is abusing this re-attendance, in my respectful submission, to try and shore up some things that he should have asked before.

We should be, in my respectful submission, focussing on these particular answers to undertakings and questions arising out of them, not going over old ground or over ground that might have been raised before.

MR. KAISER:  Mr. Shepherd.  I think that is right.  We --

MR. SHEPHERD:  Sorry, Mr. Chairman, may I make a submission on that?  Because I disagree entirely with that.

This witness has filed evidence yesterday, demonstrating that his previous evidence was incorrect.  I am entitled to ask him to admit that.

MR. KAISER:  Well, you can ask him that, but let me say this.  We have had reply evidence.  There has been extensive examination on it.


This material flows out of that reply evidence.  We are, frankly, well beyond the original evidence.


MR. SHEPHERD:  I understand that.


MR. KAISER:  You can ask him why he filed the reply evidence and why they changed their position, but it is perfectly clear to the Board we have moved well beyond the original evidence.


MR. SHEPHERD:  Mr. Chairman, I am going to ask him why his reply evidence is wrong, too.


MR. KAISER:  All right.  Go ahead.


MR. SHEPHERD:  So, first, your evidence on July 4th was not correct, was it?  In fact, it is not true that there is no reason for a Z-factor, because it all gets reflected in the GDP deflator, because now you have to bring in GST and prior period changes in order to make that work; isn't that correct?


DR. WILSON:  We have modified it.  I realize that the time we prepared this, we were strictly focussing on whether there was an effect on the return -- on the marginal effective tax on capital.


In response to the interrogatories and so on, the issue became clear, was the fact that utilities were capital intensive; would this make a difference.  We agreed, yes, it would make a difference.


Then we went on to use better data.  At the time we did this, we did not have data on Union Gas, and we did include Union Gas.  And we also, in this current submission, have addressed the lag issue.


What was incorrect in this first paper was us assuming that the corporate changes alone -- that this set of changes, that the GDP would compensate within the period, but this is because now we are including lags; right?


I mean, I think that the final point there about, the national GDP final demand deflator will more than compensate, it probably would be true if you ignored the lags, which we were at that time.  Now we've got the lags in.


But the other thing that became clear when we looked at addressing the issue of specifically, How do we get to the GDP deflator, and we had to take the capital tax calculations, figure out what that would do to corporate prices, because this is corporate changes.


We then scaled that down to allow for non-corporate output.  I mean, that's -- again, that is a rough number, 0.7.  It could well be 0.8, and then we have included the lag factor.


So the statement, when we've got all of the lags in now, in this current analysis, it is clear that that sentence, "We conclude the national GDP final demand will more than compensate for the effect of corporate tax", that is not correct.


But this is partly because we've got better data and we've got -- we are doing -- we are taking into account the lags, because that had become a focal point.


MR. SHEPHERD:  Let me then turn to your reply evidence.  I wonder if you can take out your reply evidence at page 6, and also the March 31st transcript, if you have it, at page 62.


MR. PACKER:  What was the transcript?


MR. SHEPHERD:  March 31st.  


MR. PACKER: Page?


MR. SHEPHERD:  Sixty-two.


DR. WILSON:  Sixty-two?


MR. SHEPHERD:  Sixty-two, yes.  So in page 6 of your reply evidence, you looked at the same 2007 and 2008 reductions.  Still no GST; right?


DR. WILSON:  Yes.


MR. SHEPHERD:  You said they produce a cumulative change over five years of a 2.8 percent reduction in the GDP deflator.  That is what you concluded; right?


DR. WILSON:  You have to excuse me.  I wasn't expecting that we were going to go back over this old ground on here.  I was prepared for this other material.  And where...


MR. SHEPHERD:  I can help you.  Take a look at the transcript 62.


DR. WILSON:  I don't need your help.  Okay.  The reply evidence does include effects of GST reductions.


MR. SHEPHERD:  Okay.


DR. WILSON:  Okay.  So what are we dealing with here on page 62?


MR. SHEPHERD:  But it doesn't include the prior period?


DR. WILSON:  It does not include the prior period, but on the other hand, it doesn't apply lags to the current period.


MR. SHEPHERD:  All right.  Then -- but you knew about the lag issue by then; right?  In fact, you talked about it; right?


DR. WILSON:  We didn't address the lag issue in this table.


MR. SHEPHERD:  Then on March 31st, we are talking about what sort of GDP impacts would be required to get to the $80 million number.  On page 62, you said:

"Well, just look at our reply evidence.  We got to 0.55 percent average per year.  So our numbers are right.  Those numbers will produce the whole effect."  


Isn't that what you told us?


DR. WILSON:  I just said that, you know, you got -- ours were roughly equivalent to yours, yes.


MR. SHEPHERD:  And that didn't include this $59 million.


DR. WILSON:  What $59 million?


MR. SHEPHERD:  The prior period effects.


DR. WILSON:  Well, I -- did you include it in your calculations?


MR. SHEPHERD:  No.


DR. WILSON:  No.  So we were looking strictly, then, within that period, given your spreadsheet and your estimate, of how much the GDP deflator would have to go down each year, and at that time our reply evidence, which, as I say, ignored lags, suggested it was going to go down by the right amount.


We now -- in the current tables that we have, we have adjusted for all of the lag effects.  And I would -- so, now, because we are incorporating lags -- without lags there is no point in looking at the stuff earlier.  When you are including lags, then you do have to look at the stuff earlier, and we prepared this table to address that issue.


So in a sense, what we're doing here, on the additional iterations, I think we are getting better information or a better picture of what is happening.


MR. SHEPHERD:  Take a look at page 159 of that transcript.  Could you turn that up, please?  Do you have that?


DR. WILSON:  I am at 159, yes.


MR. SHEPHERD:  So this is your lawyer, Mr. Penny, talking.  I am reading at line 15, referring to you:

"What their conclusion is is that GDP will otherwise go down by 2.8 percent.  That will impact Union's prices, and, again, with all of those assumptions and caveats, the impact would be $80.5 dollars."  


That is not correct, is it?


DR. WILSON:  I can't address the $80.5 million.  That is a Union calculation; right?  The part that was mine was the 2.8 percent.  It was drawing on that.


MR. SHEPHERD:  Okay.  The last point on this is this.  I am correct that you and Dr. Mintz testified before this Board in RP-2001-0029 on exactly this issue; right?


MR. SOMMERVILLE:  Mr. Shepherd, I think we need to correct the record, because the quotation from page 159 is not a quotation from Mr. Penny.


MR. SHEPHERD:  I think I was corrected.  It is Mr. Birmingham.


MR. SOMMERVILLE:  I think we should do it on the record.


MR. SHEPHERD:  I thought it was on.


MR. SOMMERVILLE:  The reference on page 159 is to evidence from Mr. Birmingham.  


MR. SHEPHERD:  I thought it looked like Mr. Penny's language.  I don't have his name on the page.


MR. SOMMERVILLE:  Just so the record is clear.


MR. SHEPHERD:  Thanks.  You and Dr. Mintz testified before this board in RP-2001-0029 on exactly the same point; right?


DR. WILSON:  Exactly which point?


MR. SHEPHERD:  Whether pervasive corporate tax changes should be a Z-factor.


DR. WILSON:  My recollection of that particular case, the issue is whether Ontario's specific taxes were going to be conferring the benefit on Union, and, therefore, necessitating a Z-factor, and that our main focus was look -- saying you have to look at the whole set of tax changes going on in the country, and when we evaluated it at that time, it didn't look like there was a -- the fact that Ontario was cutting, other provinces were cutting, too, and so it didn't look like there would be an undue favour for Union.


MR. SHEPHERD:  The Board accepted your proposition in that case that the various planned and implemented corporate income tax reductions would be fully reflected in the GDP deflator, right, the national ones, the ones that covered the whole country?

DR. WILSON:  We didn't look at the deflator back there and I am...


MR. SHEPHERD:  You didn't look at the inflation factor?  

DR. WILSON:  We were looking at the issue of whether there were tax changes that unduly benefited Union at that time.  I mean I have to go back -- again, I wasn't expecting that I would be cross-examined on evidence I had given -- how many years ago now?

MR. PENNY:  Again, in fairness, Mr. Chairman, this clearly does not arise out of the answers to these undertakings.

We are getting into territory that, first of all, has already been examined on, and secondly, if it wasn't, it should have been.

MR. SHEPHERD:  Actually I did the set-up question correctly.  The set-up question was the question about a three-year IRM plan, and what happens in the three-year IRM plan.  And their numbers show that if there is no GST cuts and if there is no prior period reductions, the impact is 3.5 percent, but you convinced the Board that it was 100 percent; isn't that right?

DR. WILSON:  When?

MR. SHEPHERD:  In 2001.

MR. PENNY:  Mr. Chairman, Mr. --

DR. WILSON:  Can we take a break and I will brief myself?

MR. PENNY:  With great respect, Mr. Chairman, Mr. Shepherd is now putting propositions of argument to the witnesses, which, in my respectful submission, is not helpful to anyone.

Mr. Shepherd is going to get to argue his case when we have that day and he will be able to say whatever he likes.

MR. KAISER:  Gentlemen, let's take the break at this point and we will come back in 15 minutes.

--- Recess taken at 10:38 a.m. 

--- Upon resuming at 11:00 a.m. 


MR. KAISER:  Please be seated.

Mr. Shepherd.

MR. SHEPHERD:  Thank you, Mr. Chairman.

Just a couple of clarifying questions with regard to what we just finished with.

Prior to 2007, do you know when the last change in the GST was?

DR. WILSON:  The GST, the first cut was in the middle of 2006, and the second cut occurred on January 1st, this year.  And prior to that, it was 7 percent from the time of implementation, which I believe was '91.

MR. SHEPHERD:  So, Mr. Packer, let me turn to you.

I took a look at the settlement agreement.  I want to get really clear in my mind what the relief is you are seeking here, because I am going to come back to these numbers you have just provided and tie it into this relief you are seeking.

You don't need to turn this up if you don't want to.  It is the settlement agreement, page 19.  I am using the settlement agreement as attached to the decision of the Board approving it.

I am reading what this issue is we are dealing with.  It says:  
"Certain parties maintain the changes in the amounts of taxes payable by Union resulting from federal and/or provincial legislation and/or regulations thereunder qualify as Z-factors, including changes in federal tax rates and calculation rules announced in March and October of 2007.  Union maintains that such tax changes are not Z-factors."

So that's the issue we are debating here; right?

MR. PACKER:  As I understand it, yes.

MR. SHEPHERD:  So then I look at pages 5 and 6 of that transcript on the 31st, just so I am clear in my mind as to what Union's view of this is.

This is Mr. Birmingham talking, pages 5 and 6.  On line 17, he says, quote:

"Z-factor adjustments are adjustments for changes in costs that are both outside the price cap formula and result from events which are outside management's control."

Do you see that?

MR. PACKER:  I do.

MR. SHEPHERD:  Okay.  Then he goes on -- he describes the three types of tax changes that you have included in the 80.51 million in the calculation.

Then he says, on page 6:   
"During the term of the incentive regulation plan, it is Union's position that the economic effect of these tax changes will be picked up in the national price index being used as the inflation factor in Union's price index."

In light of the new numbers, is that still Union's position?

MR. PACKER:  Yes.

MR. SHEPHERD:  Okay.

So then I want to address -- see, these new numbers say that these tax changes only have a $7.61 million impact out of 80.51.  How do you maintain the same position?

MR. PACKER:  Mr. Shepherd, you are splitting hairs.  We maintain that the effects of tax changes show up in the GDP deflator.

If you are going to reflect the impact of lags in the current period, you have to reflect the impact of lags from prior periods.

MR. SHEPHERD:  Okay.  I understand now.

So let's talk about the impact of the GST cut.  Now, you're not asking for a Z-factor treatment for this GST cut; right?

MR. PACKER:  We are not asking for any Z-factors in this proceeding.

MR. SHEPHERD:  Okay, but let me be clear.

The GST cut does not have an impact on your cost, does it?

MR. PACKER:  It doesn't have an impact on our costs -- well, I don't know.

MR. SHEPHERD:  It flows through; right?  You get a credit for anything you pay.  So it doesn't matter what it is.  You get a credit; right?

MR. PACKER:  That is my understanding in terms of the cost side, but it is impacting the GDP deflator, which is being used in our pricing formula, which will have an impact on our prices.

MR. SHEPHERD:  Yes.  But I guess Mr. Birmingham correctly points out that a Z-factor adjustment is an adjustment for changes in your costs, isn't it?  So the GST doesn't change your costs, does it?

MR. PENNY:  Again, Mr. Chairman, we have to be clear who is saying what.  I think what Mr. Shepherd is actually reading from is the opening, so that was what I was saying it was, not Mr. Birmingham.  So it is really not evidence.  It is just Union's opening.

MR. SHEPHERD:  I am asking whether it is your position.  You are saying it is your position.  That is your evidence; right?

MR. PACKER:  Sorry, what is our position?

MR. SHEPHERD:  Your position is that Z-factor -- that Z-factor adjustments are adjustments for changes in your cost.  Isn't that right?

MR. PACKER:  The criteria for Z-factors are laid out in the settlement agreement.  I think the reference to "cost" is still appropriate, especially if you are thinking about what the other components of our business is, which is revenues.

Because we have a price cap, I can't see too many circumstances where changes in revenues would justify treatment as a Z-factor.

MR. SHEPHERD:  Well, that is what I guess I was driving at, because I have always understood Z-factors to be only about events that change your costs.  If they don't change your costs, we don't talk about them.

It now sounds like what you are saying is that you think that the inflation factor needs some sort of adjustment, that the inflation factor is not correctly describing how your costs work.  Isn't that correct?

DR. WILSON:  May I just butt in here?  The fact that Union -- that when the GDP deflator goes down as a result of the GST cut, because Union has input tax credits on anything it pays for, that has no impact on Union's costs.  So it is very different from, say, a GDP deflator change derived by other measures.

If the GST were increased, then the price cap formula could well give a windfall to Union, because it would show an increase and without any underlying increase in Union's cost.

So given that that deflator was selected, one problem with it is this fact that indirect taxes can feed into it and have, in the case of the GST, a fairly large one-year impact.

MR. SHEPHERD:  But you are not asking for any Z-factor treatment for GST, are you?

MR. PACKER:  We are not asking for any Z-factors in this proceeding.

MR. SHEPHERD:  Okay.  So then let me go on to the prior period adjustments.

Now, those are not things that affect your costs in the IR period, are they?  The prior period tax cuts, they don't affect your costs during 2008 to 2012, do they?  They affect your revenues because of the price cap, but they don't affect your costs; right?

MR. PACKER:  No.  I think that is right, in the context of -- those prior period tax changes have already been reflected in our rates as a result of how rates were set for 2007.

MR. SHEPHERD:  And --

MR. PACKER:  So it would be inappropriate to just have those -- or it may be a form of double=counting to just have those previous tax change impacts being rolled through to ratepayers, but not recognize the subsequent impact they will have on the deflator that is used in our pricing formula.

MR. SHEPHERD:  I understand what you're saying, but I am just trying to be a little more technical here.

In section 2.1.1 of the settlement agreement, you agreed that the inflation factor would be the GDP deflator, right, FDD?  Correct?

MR. PACKER:  All parties subject of the settlement agreement agreed that would be the inflation factor.

MR. SHEPHERD:  It doesn't say anywhere there with adjustments for this and that.  The deflator is your inflation factor; right?

MR. PACKER:  Sorry, for the adjustments for that? 

MR. SHEPHERD:  For anything, this and that.  There is no adjustments to the inflation factor.  It is what it is.  That's the inflation factor that is used.  Whatever FDD is, that is what is used; right?

MR. PACKER:  That's correct, yes.

MR. SHEPHERD:  If I understand correctly, you are not asking that it be adjusted because there's a GST impact that's hurting, are you?

MR. PENNY:  Sorry, we just had that question about three minutes ago.

MR. SHEPHERD:  I am asking a different question.  I am not asking whether there is a Z-factor.  I am asking the question:  Are you asking that the I-factor be adjusted for the GST impact?

MR. PACKER:  We are living with this settlement agreement, which specifies that the GDP IPI FDD annualized average of four quarters is used in the price cap formula.

MR. SHEPHERD:  Sorry.  I want to get my simple answer on the record.  Are you asking for an adjustment to the I-factor, for the GST impact on it?  It's a yes or no.

MR. PACKER:  I am not sure it is a simple yes or no, Mr. Shepherd.

We are not asking for the I-factor to be adjusted.  What we are suggesting is, if you are going to try and come forward with a Z-factor, you need to take into consideration both the prior period and the current period tax impacts.

DR. WILSON:  And also the impact on the price trigger mechanism of the GST.  And what -- we are taking that into account when we are appraising whether the GDP deflator moves in an appropriate amount over the period to offset the benefit of the corporate tax changes to Union.

MR. SHEPHERD:  Mr. Packer, you have said that you are not claiming Z-factor treatment for the prior period tax cuts and their impact on the GDP deflator.  You are also not claiming any adjustment to the I-factor for those prior period tax cuts and their impact, are you?  The I-factor is what it is.

DR. WILSON:  The I-factor being the inflation factor?

MR. PACKER:  That's correct.

MR. SHEPHERD:  Okay.  So now I am going to the criteria for a Z-factor, because I looked in there.  These are agreed criteria, right?  This is a full settlement, these criteria, right?

MR. PACKER:  Yes.

MR. SHEPHERD:  I can't find anywhere where it says that something isn't a Z-factor because something else offsets it in the price cap index.  What it says is:  If that thing that happens is reflected in the price cap index, then it's not a Z-factor.

I don't see anything about offsetting other things.  Can you tell me -- can you help me out with what your view is on that?

MR. PACKER:  I think you have heard our view.  When you are looking at tax changes, it is appropriate to take into consideration the GST change, because it's having an impact on the deflator, as well.

MR. SHEPHERD:  Okay.  Just to close this loop.  This is the next step of it.  There was a discussion earlier - I don't remember with who it was - about whether the GST impact or the prior period tax cuts reflected imperfections in the X-factor.  There was a discussion in, I think, some of the prior evidence and in some cross-examination.

You are not suggesting that the X-factor that is agreed to is incorrect, are you?  Or that it should be adjusted in some way?

MR. PACKER:  Again, we are living with the settlement agreement which specified an X-factor for the five-year term.

MR. SHEPHERD:  Good.  So finally, I just have a couple of questions that arise out of this J3.3.

I apologize, I may actually on these ones being plowing old ground, but it will only take two minutes and I am just trying to clarify.

In J3.3, on line 15, you have the total tax change impact on the FDD.  Do you see that?

MR. PACKER:  We have it.

MR. SHEPHERD:  If I understand your evidence correctly, all other things being equal, that would mean that if you start with a base line of 2.04, you deduct that 0.48 to get 1.56 in 2008.  All other things being equal.  Right?

[Witness panel confers]

MR. PACKER:  I think what we're saying is that the inflation factor that we're using is lower than it otherwise would be, had it not been for the prior period tax changes.

MR. SHEPHERD:  I am getting there.

MR. PACKER:  I don't think it is necessarily a deduction from the 2.04.  I think 2.04 is the result.  It would have been higher than that, had these prior tax changes not occurred.

MR. SHEPHERD:  All right.  So in fact -- and this time I am quoting Mr. Penny correctly, because his name is right here.  On page 135 of the transcript, Mr. Penny, your lawyer says, quote --

MR. PACKER:  Sorry, which transcript?

MR. SHEPHERD:  Page 135 of the same transcript.  March 31st.  He says at line 9:
"We are not saying there's going to be any price reductions."

If I understand what you're saying correctly -- what he's saying correctly, in fact -- what you're saying is the numbers that you've got on J3.3, those are something that's happening under the surface.  They're notional reductions in GDP, because in fact GDP has a whole lot of things impacting it.

We shouldn't expect that GDP will actually be lower by this amount, right?

DR. WILSON:  I wouldn't say "notional".  I think I would say partial.  It is like if this were what was occurring in isolation, but there are many other factors.  We had a long discussion of how the Bank of Canada interacted on this.  So this is a partial effect of the tax changes.

MR. SHEPHERD:  So then, the last thing I want to take you to is an interrogatory which is Exhibit E4, tab 4, schedule 12.  It is a VECC interrogatory.  


MR. PACKER:  This is an interrogatory answered by Dr. Lowry, is that right?

MR. SHEPHERD:  Okay.

MR. PACKER:  Is that right?

MR. SHEPHERD:  Yes.  It has a chart of the final domestic demand numbers, percentages from 1981 to 2006.  So what I wanted to do is see what happened the last time you made this argument before the Board that you shouldn't Z-factor tax changes, and there was a bunch of tax changes in 2001 to 2005, right, reductions in taxes; isn't that correct?

MR. PACKER:  I think that is what our exhibit shows, yes.

MR. SHEPHERD:  Yet, correct me if I am wrong, but it is true that actually the FDD, the deflator, went up during your IR period with those tax reductions.  Right?  You 
had --

MR. PACKER:  Went up relative to what?

MR. SHEPHERD:  Relative to the previous period.  The previous period, in fact, it had an 18 basis point lower FDD than during your IR period, when Dr. Wilson said that tax changes will be reflected in the FDD.  Isn't that correct?

MR. PENNY:  Well, sorry, Mr. Chairman, to begin with this is not a document that was produced by Union or by Mr. Wilson or Professor Mintz.  It is an attachment, something that VECC prepared, which was then put to Dr. Lowry.

So until we have some evidence that this is an accurate document, I am not sure what we're achieving and these witnesses didn't prepare this.

MR. SHEPHERD:  All right.  I will put it as a hypothetical.  The hypothetical is that these --

MR. KAISER:  How does a hypothetical help us?

MR. SHEPHERD:  What I want to ask the explanation, so if it is true that FDD, in fact, went up during the IR period when taxes went down, can you explain why that would be?

I understand there is an explanation.  I'm not saying you are wrong.  I am just trying to understand what happened then.  If this is true, it went up 18 basis points in that three-year period.

DR. WILSON:  What are we comparing here?  I have looked at, while you were asking the question, the average increase in the GDP IP and the FDD deflator in this three-year period 2001-2003 is 1.82, which is about the average for the whole period.

It's lower than the immediate preceding year, which was 2.32, but it is higher than the '99, '98, '97, and so on.

These kinds of patterns can occur for cyclical reasons, demand variations.  They can occur because of changes in the exchange rate, monetary policy reactions.  There are lots of reasons.

As we have said in the evidence, that we are talking about a partial effect.  The actual outcome of the GDP is going to depend on a whole set of factors.  So just saying -- you know, it would be just as incorrect for us to say, Oh, this shows an impact because -- below 2.32, than to say, Oh, it is wrong because it is above an average of the three years.

MR. SHEPHERD:  So this Board shouldn't assume that if it agrees with your proposition and it doesn't give Z-factor treatment, that the GDP deflator will be 1.5 instead of 2 for the next five years.  In fact, it will be affected by a lot of things and it could easily be more than two or less than two.  You don't know?

DR. WILSON:  Excuse me.  I agree that the GDP deflator could well be around 2.  It could be a little below 2.  Not necessarily does this 0.5 impact show up because of other factors, the principal one being monetary policy.

MR. SHEPHERD:  Those are my questions.


Thank you for your patience, Mr. Chairman, Members of the Panel.

MR. KAISER:  Thank you, Mr. Shepherd.  Mr. Warren.

MR. WARREN:  I can say with confidence that Mr. Shepherd has Hoovered up every possible question I could have asked.

[Laughter]

MR. KAISER:  Mr. Buonaguro, anything?
Further cross-examination by Mr. Buonaguro:


MR. BUONAGURO:  Just one thing.  We received live Excel spreadsheets for most of these tables.  I don't think we received them for the last set, which would be called the Schools request tables.  I thought I might use one of the tables in argument.

So I thought I would rather use one of their live ones rather than trying to recreate it myself in theory questions.  So if I could ask them to produce that Excel spreadsheet, as well, tables 1, 2 and 3 from -- I think it is Exhibit 4.2.  K7.1, is that it?

MR. KAISER:  What's the number, Mr. Millar?

MR. MILLAR:  7.1 and 7.2.

MR. KAISER:  Yes.  Thank you.

MR. BUONAGURO:  Just the Excel spreadsheets.

MR. PENNY:  They are available, Mr. Chairman, so if you think it that it would be useful.  I must say at this stage of the process the difference, I think we all know what is driving these differences is theoretical differences in the methodology.  We know what those theoretical differences are.  It is a matter of argument.

The numbers, as I have said a number of times, are artificial in the sense that we are assuming a constant 2007 revenue requirement, so I really don't see how producing more versions of this is going to be of any assistance to anyone.

MR. BUONAGURO:  I can recreate them.  I know how.

MR. KAISER:  I am sure Mr. Penny will give them to you.  Both of you can deal with this in argument, I am sure.

MR. BUONAGURO:  Thanks.

MR. KAISER:  What is the number?  Do we need to reserve a number?

MR. MILLAR:  We will call it J7.1, and that is to produce the live Excel spreadsheets for -- I think it is just Exhibit K7.1.  So that is the only one that has a table.

MR. KAISER:  Is that right, Mr. Buonaguro?  Does that capture it?

MR. BUONAGURO:  Yes.
UNDERTAKING NO. J7.1:  TO PRODUCE THE LIVE EXCEL SPREADSHEETS FOR EXHIBIT K7.1.


MR. KAISER:  Thank you, Mr. Penny.  All right, gentlemen, is that it?  Mr. Penny, any re-examination?
Further re-examination by Mr. Penny:


MR. PENNY:  I have one question in re-examination, and it was to Mr. Wilson.  It related to some questions about your original evidence on page 5.

You were being cross-examined about your statement in the original evidence:

"We conclude that the national GDP final demand deflator will more than compensate for the effective corporate tax reductions on natural gas distributors in Ontario."

Does that remain your view, Mr. Wilson?

DR. WILSON:  It does remain my view, because the subsequent evidence we, in a sense, honed it.  We have done it more accurately than that.  That was a judgment call based on the data we had at the time.

MR. PENNY:  Thank you, sir.  Those are all of my questions.

MR. KAISER:  Thank you.  Gentlemen, our intention is to return for argument on the 15th, 9:30.  Is that satisfactory?

MR. PENNY:  Yes, thank you.

--- Whereupon the hearing adjourned at 11:25 a.m.
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